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1 2 7 3 5 6 4
1 Uwpwupbin 136654609.8
;:I:;:;;lmh whwnypubip b gpuubbjwlwht 4402650.77
30107232 | Pl wpwguup o< lhunn w 4400 100
30197733 | MPWawlwp ppjuw jupnyh 8¢ |run Bol5 5250 100
30197233 |CPwUwbny g¢  [hwwn 5 750 150
30197230 |PRPWwwhul g¢  |[hwwn 52 2600 50
30197210 | pnpwwwluwyibp, npunkn pnptipp Shwgynus ko ond < hwn 475 9500 20
30197230 | PAPWWwimy g¢  [huwn 500 25000 50
30193700 |pnpwrwpuy g |hwin 236 59000 250
30193700 |pnpwrupury g [hwun 2275 45500 20
30192700 |pwywqu g¢  |hwn 3800 38000 10
30192701 [ipwywqy gg  |hwn 1545 154500 100
30192152 [4uhph uwpp gg  |hwn 1200 4800 4
30197332 |hwlhy gg  [hwun 1500 45000 30
30197322 (Ywphy (unbuykp) :g¢  |hwn 2360 47200 20
30197323 [Ywphs (uinkuykp) g |hwn 1783.333 53500.0 30
30197340 |Wwmlwmphs g |hun 120 3600 30
30199420 |Lonuwiubph painp, Yusnit g¢  |hwnn 774 38700 500
30199420 [Lonuilbiph poinp Yujsnih gg  |hwn 222 11100 50
30199420 |ULnidubph pounp g<  |huwn 181.25 72500 400
30199420 [Lonwilibph prunp g<  |hwn & 7300 100
30197271  |wuputy < huwin 186.667 5600 30
30197120 n&quuu < wnntith 145 5800 40
30197111 |Ywphsh vhkwnwnuiupk Juybkp thepp o< tnnuh 45 9000 200
30197112  [Ywphsh dbwwnuywupk Juwykp dhoht c< wnuh ol 6000 100
30141210 [2wphs ukphlia gg  [huwn 5620 28100 5
30141210  [Zwipghs ukpklum g |hwwn 3640 18200 5
30192123 |dnuwuwntp o< hwun 980 9800 10
24910000 |Unuhld i foTe hwn 247 494000 2000
24910000 |Unubld g<  |wnuh 182 273000 1500
30192130 |Vwwhw o< [hwn 16 4800 300




30192130 |V Wwhw g¢  |hwwn 90 18000 200
30192130 [TWwhw g¢  |huwn 90.667 27200 300
30192135 |Uwwihwh upgnty g¢  [huwn 46 2300 50
30192135 |Uwwnhuh udhgmly g<  [huwn 46 2300 50
30192100 |frtanhl gg  |hwin 48 4800 100
30192122 |*RR g [humn 20 40000 2000
30192123 | PR g [huwn 325 650000 2000
30192128 Qphs, ghjughl < hwun 76.667 15001 1500
30192128 | *PPY qunhl g¢  |hwn 200 100000 500
30192122 | *Rb g¢  |hunn 350 350000 1000
30199230 (Opup g |hwwn 15 1500 100
30199231 [Opuwp gg  |hwwn 26 13000 500
30199232 [Opwp gg  |huwn 44 22000 500
22811130 |StUR < hwun 26.6667 8000 300
22811130 |SEP gg  [hunn 135 27000 200
20811130 [SWAR t< [ 242 24200 100
30192730 | Twi jwilhtwgnn punuup A4 < huwuwn 45 4500 100
30199730 Ujgtipwpunp dwwnjub o< hwun 1526.667 916000.2 600
30199792 opuwgniyg c< hwun 400 ]6000 40
30194500 |t o [hwn 40 4000 100
30192114 Bwliwp Yuhph pupdhh hunlwp < hwun 150 7500 50
30192111 fwlwiph pwpdhl < huin 266.667 8000 30
30192160 |gughs t¢  |hwwn 140 21000 150
30192160 [Qughy, dwuymyklimdl g [hwwn 473.333 71000.0 150
30192160 thhz Zmphlu t& hwn 130 19500 150
30199410 |Pnunp hlipwlujymu gg  |hwnn 55 11000 200
30197231  |buyyy c<  |hun 5.2 52000 10000
30192760  [Unhy (14 hwn 45 1350 30
30192125 |Uwplkp g¢  |hwunn 150 15000 100
30192125 [Cungshy t<  |hwun 450 45000 100
30192350 | hwpdhs-npwdwpynuihl sbpthwibph dwwwybioy ¢< hwtn 500 15000 30
30197631 | ©™AP qRbint ol hwwn 1032 258000 250
30197646 | PP apbio g¢  [huwn 2500 50000 20
Ywnbjwunye 8452800
09132200 |Phkughu Mthgniywp (4 [punp 318 5724000 18000
09132100 |Phught Mpkidhnud (14 jhwp 338 2028000 6000
09134220 |hq. Ywnbijhp o4 (hwp 292 700800 2400
Sunbuwlwy, uwuhhgbuhly L 1Ywgph dhongubin 14997450
39831242 |LUwgph dhong «BINGO» Juid huwfuindtp (74 unti 400 240000 600
39831242 |Lywgph dhgng «BINGO» {wd hwiwndtpn o< Ua 850 510000 600
39831242 [Ljwgph ohgng «ARIEL» Ywd hudwndtipp t< wntth 600[ 600000 1000
99831243 | uugph shong «ARIEL automat» lwd huswndbpn | © tnnuth gs0| 890000 1000
Lywgph dhong « BINGO automat» Ljwi
39831243
hwiwndtipp e Uag 1100 HB0E 1000
39831241 |Otwn dtinph (100 q) /unynnwlwG/ t< hwwn 100] 100000 1000
39831241 |OBwn dtinph / undapwluw / t< g 400 320000 800
39831241 |OGwn atinph (100 9) 7 wnuniwuwhdwG;wa 7 (74 hwwn 280| 280000 1000
39831241 |OGwn dtinph 7/ wnunwuwhiwywa / o Ug 1000 300000 300
39831244 |Otwn nlnbuwlwa (100 q) t< hwn 150 45000 300
39831244 |Odwn nbwnbuwlwh < Ug 500 50000 100




39831245 |3tinnty oBwn [T lg 400 200000 500
39831000 [Lywgnn dhgng / Epwqulip,/ [l e Ug 750 750000 1000
39831240 [Uwhunwybglnn htnntl 7 dwdE) / &< Lthup 150 225000 1500
UdwaGbph wglwG dwéniy /gtusnig, bpwquip
39832000 Y hussuwnd./ ol & 200 160000 800
33831600 Lwgnn, dwppnn dhong / nwljpw YJud hwdwpdtp / (S nnu 250 OO0 1200
39830000 [Uwiwhwwwlh dwppnn Gjnip (24 Lhuip 1000 500000 500
39830000 |Uwlpwhwinwyh htnnty &< hwun 1000 500000 500
39831000 |UwwyhGtiph (Jwgdwh Gheng t< hwuwn 600 300000 500
33694000 [Binpwihp t< g 1200 120000 100
33761000 |@ntnp qniqupwCh 7 nEnwlwl wpinwnpnipyw/ [ 74 hwtn 80 104000 1300
@ninp qniqupwah / wpnwuwhswGywh
33761000 wpunwnnnLpjwa / G hwuwn 150 150000 1000
39513200 |uaabinnghl pnpjw / nbnwlwG wpunwnnnLpjwi / o< hwuwn 110 110000 1000
39513200 UGdtinnghly ubinwGh gniGwynp / wpunwu. wpuwn. / o< hwn 320 96000 300
33764000 [ULdbnrnghly hwiwlwnqsh GnGhtinph hwdwn < hwwn 300 30000 100
39831282 |®nzhl dwpnbiint gnpéJwéplEn 7 9long / < hwwn 200 40000 200
39831283 [3wwwyh liong /qnpdywdp/ c< hwtn 450 135000 300
39811300 |3nwnwqbindhs /nbiquitnnp/ o< hwuwn 400 40000 100
39525810 Quytiglnn dhonglbip thwjinjw Ywhnijph hwiwp G hwuwn 730 73000 100
39221480 [2niqupwlh L (wgwnwGh funqubGwy < hwun 500 50000 100
39224300 |Unpwuwnwn dwpnbint funqubwl o< hwwn 1800 36000 20
39812100 [Zwuuljh dwdhy &< g 1500 30000 20
B850 Ubinwryw nnyy| nGunbuwywG / 8 |, ul Skinwnhg / &S huin 1000 19000 10
39224330 |Inuy| ul 0Gwwnhg wpdlwwwwn, 8., ghijwwwwn o< hww 1500 15000 10
39224330 |ty wjwuwndwuwihg 75 |/ &< hwn 400 8000 20
39224330 |y wiwuwndwuwyhg /7 |/ < hwtn 600 12000 20
39224330 |y wiwuwnldwuwihg 710 [/ < hwwn 850 17000 20
39839200 [Ynquiphwly (uwynly) (o4 hwwn 140 28000 200
39839100 |Inquphul (uwynl) énnny B% hwn 1400 140000 100
39224300 [Fwwiwl dwppbint funquibwy 7 huwtn 800 80000 100
39224300 [Rwwnwl dwppbnt dnqwihw)in < hwwn 850 85000 100
39224341 |2wdpninbbip wiwundwuwhg 7 wnpwnln / c< hwuwn 1600 48000 30
39220000 [Lqwgph pwu, wiwuwndwuwjhg [ hwun 650 6500 10
24911200 _[Fontuhw, nbnwlwh wpnwnpnipjwi < lq 1000 10000 10
31531200 [Lwdw 40 din e hwwn 120 24000 200
31531210 |Lwdw 60 dnn o< hwuw 90 13500 150
31531210 |Lwadw 75 dwn < hwuw 90 13500 150
31531210 [Lwdw 100 dwn [of4 hwun 90 9000 100
31531220 |Lwow 150 dun G< hwwn 200 30000 150
31531230 |Lway 200 duin (14 hwuin 250 25000 100
31521000 [Lwiw 300 din o<l hww 440 44000 100
31521000 [Lwtiyj 100 din (oupwia) &< hwuwn 300 21000 70
31510000 |Lwiw hwjtijwwwwn 40 din [ hwin 220 22000 100
31510000 |Lwiuy hwybjwwwn 60 din o< hwn 230 16100 70
31510000 |Lway hwjbjwwwwn 100 dun Tl hwwn 350 24500 70
31510000 |Lntuwpdwlh jwiw 500 dwn [ hwtn 700 70000 100
31510000 |Lniuwpdwlh (widwy 7000 din &< hwn 900 45000 50
31510000 [Lniuwpdwlh (wiw HIL 250 din &L hwun 2100 168000 80
31510000 _|Lniuwpéwyh jwidy ML 500 dn [T hwtn 3600 288000 80
31531500 [StnpGYw)hh jwiw 7 yntdhGhgbw. 60ud/ (el4 hwwn 500 150000 300
31531600 [Stp&Yw)hh wiw / yncdhGhgtwn. 120ud/ [ hwn 750 75000 100
31510000 [Pwndp 6020wl Gwinphnidwlwl jwow (74 hwuwn 620 31000 50
Twb Ynnuwtip + thwiw,Gaprpnyh, WU, Wwntn.
44521000 [, = A J o< b ss00| 175000 5
44521000 [Swfunyh Ynnwhip 7866 swihuh 7 74 hwun 1000 10000 10
44521000 _|Ywfunih Unnwtp 7 thnpp swihuh 7 c< hwn 650 6500 10
44521000 |?hpYhaynn wwhwpwh GanwGp [ 74 hwun 6300 18900 3
39221410 |UtGywywhl wyky o< hwwn 850 680000 800
39221411 |Pwbh wybi / gwiiwdb] pGwlwh Gyniptphg 7 t< hwun 1000 80000 80




Udwindwwn whowwnhsbbip / b aGnpwlwd wywnniwn

31211180 |/ 25U €< hwun 950 38000 40
Uwiniwwn whowwhsbbp / faGnpwlwh wynniwwn
31211180 |/ 32U c< hwtn 106 44000 .
Udwndwwn whowitnhslbn / b GGunpwlw wyinndwan
31211180 |/50U ; o< hwtn 1500/ 60000 40
31211180 [Udwndwn whowwinhshbn /Grwdwq 7100 U [l hwn 7500 150000 20
39715200 |ElGYinpwlwl wnkltp /1,5 Ydwn/ (o4 hwuw 3000 15000 5
39715200 |[EilGhwpwlwh wnkGEp 72,5 §dn / t< hwwn 4700 23500 5
39715200 |ElEhnpwlwl wkhtp 74,5 Gdwn / G& hwuwn 4500 22500 5
44511110 |Puwh, thnpG(ni, unip Gapnd ™ thuwyunyw wngny [ huwwn 1350 6750 5
44511110 [Fwh, thnptipng, jwyG Gapny ™ thwyunyw wngny 74 hwwn 1350 6750 5
44511110 |2ywl phuwly [o7d hwwn 4500 22500 5
a000ns ElEYwpwlwl Jupnwy, nbnwlwh wpnwnpnepywa G hwun 150 7500 50
31600000 [FLEUnpWlWE Jupnwy, wpunwuwhdwijwo e 23500
wpwnwnpnipjub hwuwn 470 50
LiEGunpuywl whywwnhy, nbinwlws
31212200 TG o< T 300 15000 50
ClEYwnpwywl whowwnhs, wpnwuwhdwijwh
31212200 EnhanmrED o4 hwn 450 22500 50
3123000 |Ynpwn EibYnpwiwidwtnh, 066 gnGning o< huwn 520 10400 20
3123000  [Ynpwn tjGwnpwiwdwGph, 6hehl gnfniny [T hwwm 120 2400 20
3123000  [Ynpwn tiGYwnpwiwawbtiph, thapp gnining (14 huin 95 2850 30
3123000  |Ynpwn Jwhunyh wnwuwwnh, 666 gnniny o< hww 350 10500 30
3123000 [Ynpwn Yuiundh wewuwnwnh,, Ghohl gnljniny (X3 hwwn 200 4000 20
3123000  [Ynpwn Ywfundh wnwutwnh,, thnpp gnijniny [T hwwn 150 3000 20
Uthniuhs dwwwdbl, hOpGwlws. qrubuih.,
31651000 Yunpyw hhoph Upw t< hwn 220 4400 20
31600000 |[Fibhnpwlwd fupng, nEnwlwl wpwnwnpnipwl [T hwtn 80 1600 20
ElEYywpwlwh fupng, wpunwuwhdwjwa
Higvgony wpuwnpnLpjwl s hwuwn 250 000 20
Ubnnwnyw wunhSwaGbip, pwgnyh, wyniihGhg /2
44423230 S Tl hut 17000 170000 10
31221280 |Gplupwgdwh [wp /5 GGwn / < hwwn 1500 30000 20
31221280 [Gplwpwgdwl (wn /3 abtwp/ c< hwwn 1100 22000 20
31224810 [Gpywnwgiw jwp hwiwlwngsh (o4 hwtn 2700 54000 20
1824600  |Mtwnh0b atinGnghtin 1 lGE huwtn 200 40000 200
39222120 |Pwdwl dhwlqudjw [ofd hwun 7 3500 500
39222110  |Uthub dhwiGquidjw [o7d hwwn 14 2800 200
19641000 |"lnjptphykuuwyhl wnypwl, wwpl wnph hudwp (4 hwwn 80 40000 500
44163172  [[Fhwnhuk junnnjuly [ 4 hwwn 500 50000 100
39222100 |Mwuwnwpwn Ghwhqudjw [ole huwwn 10 2000 200
31512440 [ULbknbuyht pudy 60ud ol hwun 300 300000 1000
31520000 |Loiuwdthnth nhnnuyhtt 60 x60 409w c< hwun 15000 1500000 100
31520000 |Lwidwy ghnnuyhl 1148 t< hwin 1000 400000 400
44141110 |Ukwwnuljub ywungnuy e hwun 1300 390000 300
44141110 [&nih ungnyul o< hwn 1100 330000 300
44511000 [3wppwynipp &< hwtn 900 18000 20
44411110 [Sp dnpuil Ukl thuljwng t< hwan 2000 200000 100
44411120  [9ph dnpwl Epnt thwwling &< hwuwn 3000 300000 100
14400000 |Un n3 jnpugjud POUL | wnutw 132000 792000 6
15890000 |Utunwdphpp 74 2100000
39516100 |4wtntpdwlp U wuhnquwghl wywpuquikp (4 1850000
33100000 |Fdojuljut uwppunpnidubip 20000000
39130000 [%pwubklywluhl juhnyp 3000000
34000000 U.lenuqulhhumuldlyuhp c< 2500000
44221000 Ch'uuﬂl]nqa RrOULC 330000
39710000  |MbUgwnwihu nbtulhbw PRUL 950000
33000000 (Yannpwip b wwwnwuwnwlynipbp

35330802.69




33661250 Nnpnubinny 1%-14) c< upquly 780 78000 100
33661120 |Unpdhii 1%-14; o< upyuy 420 42000 100
33661114 |Phlunwby c< upyuwly 420 105000 250
33691226 |Spwlwnn) 100ugq /2uj N5 o< tnnuh 510 51000 100
33661112 |Mpnuwyndnj wdwy. 204; N5 &< nnuh 6875.25 343762.5 50
33661000 |Uhnuqhu 15uq/3u; N5 t< nnuh 5690 170700 30
33661100 Wwinpwyniphnud plighjwn 541 /504 c< upduly 2200 110000 50
33661000 |4hpnlwht wdw.5.0dg/10d; N10 o< wnuh 25920 129600 5
33661115 |Pnuyhywluihl Uyhuw) 0.5% 5uq/uj 4d) N5 c< wnuh 5705 285250 50
33661100 |hinhipu 20uq/50) N10 o< wnup | 342375 1027125 30
33661100  |4wihwun) 5004q/100; < upyuly 1439.36 71968 50
33661000 |Unnnuwl wdy. 4dq 24) N25 t< upyuiy 938.4 46920 50
33661113 _[(Ghnublunw Uwwnphnud 0.5q t< 1. 2420 72600 30
33661110 |Pandynipuit 1004 t< $L 17100 256500 15
33621700 _|Ubtinupning inwpuinpwin 5dg/54; o< $1. 3000 45000 15
33661136 |Uwwnipht 2 dy10ug N10 t< wnuh 900 63000 70
33630000 |Pd2lwlwl uwhpwn 96% Tjhipwtng c< hwun 1200 300000 250
33611240 |Uljnhyjwiguwd wdnifu 0.25qp N10 t< winith 34.96| 10488 30
33671125 [Udppnpun| 0.03N20 c< uinuh 370 3700 10
33621740  [Udn$h; 10ug N30 < wintth 321 8025 25
33622000 |Unpbuwihtp h-n wiuy. 0.18% N10 o< wnuh | 1267,087| 101438.96 80
33620000 [Upphwing 100ug N10 (S unuh 1810 27150 15
33621710 [Uwbtngn|, 100dq N30 c< innuh 170.39 6815.6 40
33650000 |Ughuwl 500dq N3 < wnnith 972 38880 40
33621000 |Uynnybghu 400dg 104) N5 c< nnuh 9091.1 181822 20
33621000 |Uyunybght 200dq 5u; N5 &< wnuh 4625 277500 60
133621000 _|Uywinybight 80uq 24 N25 c< wnuh 11172 446880 40
33621160 _|UdhUunywupnuwppnt (e 5% 2504 -8< winuh 410 32800 80
33651111 |Udnpuhghihi 500ugq N20 c< wnuh 600 24000 40
33651111 |Udnpuhghiht 250dq /$ikdopuht unynunwp/ c< w}:mw 111.02 55510 500
33651100  |Unigubtinhts 3751 N20 c< winith 3042 91260 30
33651100 _[Uniqublinhls 625dq N14 (1S wninuh 1826 18260 10
33622200 | Utiwyphjwl 10ug N30 o< wnuh 1500 30000 20
33622200 |Udwphpwl 5dg N30 < wnnuh 1200 36000 30
33660000  |Ujpnighn 20% wsph Ywph; c< wnup 420 4200 10
33620000  |UphYwpnkuunin; 100Uq/10u) N5 &< winuwh 15000 150000 10
33620000 |Ujpnilnpi 20% 50 - c< b1 18000 36000 2
33620000 _|UjpnLGnpd 20% 100 G| e L. 32000 64000 2
33620000 |huwipwnhy 5/25 dq N28 &< wnuh 2856 114240 40
33620000 |huwnwnhy 10 g N28 c< winuh 2310 92400 40
33660000 |Utiwight 50% 24 N10 t< wnh 310.57 372684 1200
33660000 |Uughnijin N60O c< winuh 9300 139500 15
33611350 _|Uulynpphtwppnt tudy. 5% 5d) N10 o< wnuh 503 251500 500
33621100 |[Uuwhpht Yuprhn 3004dq N20 c< wnup 688.8 68880 100
13671000 |U8S n/thnoh 200uq N20 c< wnuh 1705 17050 10




33671000 U838 n/thngh 100uq N20 &< wnuh 1405 14050 10
33671000 (U8S8 n/h 100dgq N20 < nnuh 1340 13400 10
33671000 (U838 n/h 2004dq N20 (S winuh 1300 13000 10
33651100 _|Ughppndhghu 250dq N6 c< uinuh 432 17280 40
33660000 [Uwwpwpu 25dq N25 c< wnuh 950 7600 8
33661151 _|Ughlndhp-Ulph 200dq N20 o< wnih 384.4 7688 20
33651112  |Udnpuhlyjwy n/je 156.25ug/54) 1004 c< nnuh 1060 31800 30
33651110 _|Uniqdblnhl n/p 156.250q/50) 1004 c< wnuh 2008 104900 50
33611341 |Upqwntinnphd Jhin.D3 100; < winuh 685 68500 100
33631281 |Ubpunwy n/h 100dg c< nm}lfnw 92.33 27699 300
33670000 |ULJw Uwphu dwlilwlut 104; c< winuh 1152 46080 40
33670000 |Uwnpnybun whpngny (S wnup | 4152.96|  20764.8 5
33651114 |wblhghhti G upd. Tdju. o< winuh 80.98 121470 1500
33631210 |PLwnwdbitnwgnu punip 0.1% 15q < nnuh 816 12240 15
33670000  |Rtpnnnww) |- oUs. < wnntth 3114.72 124588.8 40
33631282 |Phinwnhl htiginng. Undhly 2004q N14 c< wnnup 1715 17150 10
33621720  |Phunuypnin| 5dgq N30 o< wnintth 397.5 31800 80
33613000 |Phuwlnnhy dnuhly 10dq N10 c< wnuh 527 52700 100
33620000  |Phuypn| 10dq N30 o< winuh 866 25980 30
33620000  [Phuwpn; 5dg N30 &< wnnuh 397.5 23850 60
33621000 |Phpjhuyphy wyniul0dg/25:q N30 c< winup 1865.59|  111935.4 60
33621000 |Phpihwph; 10dq N30 t< innuh 1098 65880 60
33671000  |Ppndhtipuhu 8UgN50 &< uinuh 145 7250 50
33631281 | Puiwluwiht tpp. Yhouliuljh 40q c< nnuh 284.24 2842.4 10
33671000 _|Ppnufunihinpu o). c< wnuh 420 12600 30
33650000 Efm;tjqizl 2;(.)@56[ et os nnu 480 24000 50
33650000 [Pwlnphd $npint 960uq N10 R wnnuh 129 6450 50
33620000 |Phwnwubiply 24dq N60O &< tinuh 9400 141000 15
33620000 _|Rhnnw 2.54q N28 hwdwndtip Phunupniny 2.5uq c< wﬁmw 20.51 20510 1000
33620000 | Minytipinply 24dq N6O c< wnuh 4140 124200 30
33691138 | 9niynqui40% 5.0 N10 t< winuh 345 34500 100
33651126 | Ybuwnwdhgh wdw.4% 80dq/24; N10 c< winuh 605 60500 100
33691138 | Fnihnqu10% 1004; o< wnnuh 426.4 85280 200
33691138 [Yynilnqui10% 2004, c< wnuh 468 93600 200
33691138 | Gyniynqui 5% 2500 < winuh 170.4 204480 1200
33691138 |Fynilynqui 5% 5004 c< wnuh 174 348000 2000
13610000 | %hght 0.1g NSO n/h T i 393 3930 1000
13610000 [%hght 1.5% 30004 c< wnih 1680 8400 5
33610000 |%hgbipht 1q dnuhly (oS nnuf 878.47 26354.1 30
13610000 |%ihgtiphlu 2.1q dndhy o< uinuh 878.5 4392.5 5
13650000 _ | Hpnwyphtinuht 50dg\d| - 1204 c< innuh | 327759  98327.7 30
13621000 | <buyinpusy 4004, N5 c< wnuh 12819.3 128193 10
13675000 | hdbinpn| 1% 1.0 N10 L wnup | 216.6667| 325000.05 1500
13621600 | Hhpwqgny 1% 5uj N10 &<l ninuh 403.2 80640 200




33621380 |"hqopuhl 0.25uq N40 c< wnuh 204 6120 30
33621380 |Hhgopuht wuy. 0.25dq 1) N10 c< wnith 768 46080 60
33631310 [hlyndklwl 50dq N100 o< wnuh 1089 16335 15
33691121  |2Llwphu 150ug N1 c< r|.ur1lt:mu1 657.66 6576.6 10
33631310 | Hhlyn$buwy wdy. 75uq 34| N5 c< wnup 350 175000 500
33661153 | Hipuwdbipwgnt wdwy. 4dq/d) 1) N5 c< winuh 310 465000 1500
33630000 ggwpnumﬁ;g;gl I\LIIS TS s S wnuh | 10965.85| 54829.25 5
uw w uwnnu j-
33660000 | gsaq[/qzr:n il L 22| 39150 75
33631310  [njwywuu 1d) N5 c< wnuh 2400 144000 60
33611000 _|hujunnpy 304, c< inup | 2768.12| 276812 10
33631310 [njhipu 2 N5 o< wnih 2160 216000 100
33691100 |YFhwgnihit 0.1 N10 (S wnu 420 6300 15
33631310 |"Hhlynu dndhly 100ug N10 o< nnuh 979 34265 35
33631310 [t dndhl 50uq N10 o< winuh 865 17300 20
33620000 | Hhghunl wduwy. 250dg 24j N10 t< wnuh 1370 274000 200
33651127 | npuwghljhuh hhnpnpinphn 0.1g N10 t< wnuh 98.9 19780 200
33641000 | Hntpwuwint 10dg N20 < wintth 3980 398000 100
33620000 | uytighwn 250dq N50 < wninuh 1944 19440 10
33611170 [Wpnwnwybphub h/p 40dg N20 o< wnuh 160 6400 40
33611170 | Hinwwybiphtp h/p 20dg/d; 24) N10 e wnih 502 75300 150
33620000 | Fnpnunwidht 250dg N1 c< wnuh 4855 48550 10
33620000 | nuydhtu wuwy.40dg50IN5 (24 uninuh 4392.8 43928 10
33622200 | Hhiwiwnpbn 25q hwdwpdbp Swyhunnt 25dq t< qm}fnw 134.56 134560 1000
33622200 |Hhjwwnnbin 6.250q hwiwpdbp Swyhunt 6.250q o< qm}:unw 89.91 134865 1500
33622200 | Hhjwwinpbin 12.50q hwdwpdtip Swithinnt 12.540q c< qm}lfnw 105.81 158715 1500
33620000 | Hanpuwibpu 5004dq gc [T g 152532 =
33622000 |Hhpnunt 10dg sc [T a4 29008 700
33622000 |Yhpnuinu 20dq e r}ur}:mw 57.04 39928 700
33610000 | "Hnipwjwly or-Y < winuth 2220 44400 20
33620000  [2nlwpnhu 30 N28 t< wnnuh 4503.15 45031.5 10
33650000 |2hudwpu 750dq oL wnuth 875 35000 40
33631287 | Rhpwbly 10dg hwdwndtip Uhp-G 10dg cL mmf‘:mw 58.23 8734.5 150
33670000 |Enuphihtu 24dg/d; 5.0 N10 c< unnuh 373.333 224000 600
33621520  |Euwjwwph| -< N20 < nnuh 370 29600 80
33621520  |Ebwjwuwphy -<L N20 < wnuh 309.02 24721.6 80
33621520  |Euwjwwphy 10dgq N20 c< tnnuh 105 21000 200
33621520 |Euwwuyph; 20dq (S nuq,:mw 20.9 41800 2000
33620000 [Euwuy -H 10dg N20 c< wnuh 658 65800 100
33621000 | bublighwit $npink 300q N30 c< wnuh 2130 85200 40
33621000 |kublighw|b wuw.50; Eudnit N5 c< wnuh 2520| 100800 40
33620000 |kghiny 50uq o< r}m}fnw 23.35 37360 1600
33620000 _|Ehduinnp 10dq+5 g c< r}mﬁmw 136.68 273360 2000
33620000 |Ehjwwnnp 20uq +10 dg o< w}:mw 209.66 377388 1800
33620000 |Enuhun Sdq N20 hwdwpdbp Euwwwphy 5dq N20 (24 wnnth 97.5 5850 60




33642230  |Enihpnpu n/h 50dq N100 < wninuh 1150 11500 10
33611341 |Fhwdhl wdyy. 5% 1] N10 c< nnith 177.84 10670.4 60
33642230 |fdhpngn| 5dq N50 t< wnuh 1590 31800 20
33631290 |Ppniwpndkh 0.2q N10 [4S wnuh 56.9 569 10
33631290 |Ppmuypndku 0.4q N30 G< nnup 617 6170 10
33631290 |Ppmibkili opuipul 1001 c< wnuh 698 6980 10
33691129 |Pnln Skp |-p 5004 c< winuh 480 24000 50
33630000 | Punnutunwghl punip &< wnnuh 300 6000 20
33622000 |Lhqhunwphy 5ug N24 c< winuh 367 7340 20
33620000 |Lhqhtinwphy 10uq N24 c< ”m}:mw 236 2832 120
33661116  [Lhnnlwiht 2% 2.0N10 c< wnnuh 251 25100 100
33642230  [L-phpnpuhl 100dq N100 t< wnnuh 1362.67 13626.7 10
33611000 [Lhubpu N16 < tnnith 768 38400 50
33611000 |Lhutpu $npink N28 c< wnuh 2769 55380 20
33620000  |Lnphuunw 100dq tL r}Uf]:l:mLu 56.47 15811.6 280
33620000  |Lnphuwnw 50dg < qur}l:mw 34.64 9699.2 280
33620000 |Lnphuwnw 100dq/12.51q &< qmﬁmw 69.52 9732.8 140
33620000  |Lnigbinwd 800uq N30 &< wnnuh 1514 7570 5
33611200  |Lnwbpwdhn 2dg N40 c< wnup 293.2 1466 5
33620000  |Lhwphdwp 20dg N30 o< winuwh 12883.5 51534 4
33611200 [Lnpwunwnht 10dq N10 o< wnnuh 220 13200 60
33620000 |Lhnwnt 1000gk < wnnuth 2240.4 44808 20
33621740  |Lbplywdbb 10dq N 28 (8 wnuh 2702 27020 10
33620000  [Ynpdw)nhu 254, o< wnnuh 598.5 17955 30
33620000  [Ynpduwin) 254) t< wnuth 112.9 4516 40
33621690  |[Ywpytinhiny 12.5dq N40 < wnnuh 960 38400 40
33621690  [Lwpytinhin; 25uq N40 c< wnuh 982 34370 35
33621690  [4wpybinhin) 6.25dq N40 . &L winuh 756 30240 40
33620000 |Ywpnhlbn MHanwpn-20 N50 o< nuh 1320 66000 50
33620000 [Ywpnhybn Nwnwpn-40 N50 (1S wninuh 2234 89360 40
33621510  |Ywwnwnph; 50udq N24 t< winuh 264 18480 70
33621510 |Ywwnuph; 25Ug N40 (1S wnup 151 30200 200
33651148 |Y4|nuinphdwgny punip 15q [ wninuh 188 11280 60
33691134 [Ywihnwh pinphn, (- 4% 2004 c< wntth 410 20500 50
33691134 |Ywihnuh pinphn |-p 4% 1004 c< wnuh 390 15600 40
33671135  |Ywghnuih pinphn 10% N10 t< uinuh 377 37700 100
33620000 |“wpnhndwquhy 75dq [ Wﬁmw 17.15 171500 10000
33620000 |Ywprhndwquh; 150dg N100 c< wnuh 2057 102850 50
33620000 |“wpnhniwjd N96 t<l wninuth 1007 15105 15
33660000 |4tinntiwy wiy. 100dg 26| N10 (S nuh 1389 277800 200
33660000 |Ybwnuw; 50dq N25 c< wnuh 1140 34200 30
33660000 |Ybunnuwy 1500q N8O (o] 4 winuh 2444.5 122225 50
33660000 |4twnntw| $npunt' 100uq N20 c< wnuh 1300 104000 80
33660000 |4bwnliw) ntnwpn 150uq N20 c< wnuh 1618 80900 50
33620000 |Ynbiwlhnt widw. 2dg 0.2u)-ubpwplhs N5 c< nnup 3900 585000 150
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33620000 [“4nprwpnt 200uq t< ol 62.42 74904 1200
33620000 | Ynpnhwidht wdw. 25% 24) N10 t< wnnth 1173.6 70416 60
e ::g:hhb “uwwnphnuh phugnuwn widy. 20% 10 oC Rl - 75350 -
33661117 [HYwwwluninh huuniyN50 t< wnnuh 85.1 6808 80
33620000  |4nllnp Sug N50 c< winuh 2515.15 150909 60
33620000  [Yntiynp Ynp 2.51q N30 (< wnuh 1302.77 78166.2 60
33611420 |4wighnuwih gyniyntwin 10% 104; N10 c< uinuh 1345 67250 50
33611420 [Ywighnuwih gyniyntiwwn 10% 5u) N10 o< nnup 745 74500 100
33620000 | “nlwppopuhjwqu wiwy.50dg 24) N10 c< nnuh 3750 75000 20
33610000  |Yptint 10000 n/wy N20 c< wnuth 2030 40600 20
33610000  [Ypbinbi 25000 n/wy N20 < winuh 4085 40850 10
33691175 |Uhnt D 100dq gc | a0 03] 208995 150
33620000 |4)bipuwti wwwnpwuwnh bip-hs 0,20 o< upduly | 1727.84 138227.2 80
33611420 |Ywigh D3 $npwnki 5000q/400ME N120 c< wnuh 4615.54 461554 100
33650000  |Mwdbwninu 30q - oUs. o< wnuh 700 10500 15
S s SN I B R I
33620000 |4Yn-ubivinp 100dq+12.5dq ol r}anL:nw 131.85 52740 400
33620000 t:n:'f}:nmur: L]? 0055233233 Eig R o CLE I [y 23750 e
33621390 [Ynpnwpnl /hwdwndbp/ wduy.5% 3uj N10 e< wnuh 2300 69000 30
33620000  |“4wyhuinnt 10dg/24; o< upyquy 165.69 16569 100
33620000  |YwyhUwnnt 25dq/54; c< upywl 228.54 22854 100
33621100 |<bwwphu-(hlyn 56; N5 c< wnuh 2195/ 439000 200
33621100  [<kwwphu punip 25q. t< winuh 577.49 57749 100
33620000 | <hwnutin. 5da/10dq N40 c< winuh 2400 24000 10
33621320 | <wyybh hwuniy 1) N10 < winuh 315 3150 10
33631220 [<hnpnynpinhgnt punip 1% 15q t< wnuh 216 2160 10
33660000 | <tiinUnj 5004 R i 700| 108000 150
33691123  |Ubipbunwgn| 100uq N6 t< wnnuh 208.8 2088 10
33650000 | Utiinpnupnwgny 0.5% 1004) N1 c< winuh 166.8 417000 2500
33650000 |Ukwipnuhnwgn; 500dq N20 c< winuh 746 22380 30
33660000 |Ukpupwwu 21y N5 &< wnnuh 1200 240000 200
33660000 |Ukpuhwphu 24y N10 t< winuh 1980 158400 80
[ }5);)131};’;]213;1}\‘110;11q/ 2u] N10 hunlwipdtp Ukpuhwyphd 5¢ nnith o80 99000 -
33660000 gol:rqulzlg?}\ﬁsg Y SLIID huaupdip Ubpaburht | g nnuf oa7s|  247°0 10
33621700 |Ulnnwpnyny 50uq fkghynly/ R 21015 900
33631286  |Uhlntwqny b-p 2% 15q (] winuh 295 5900 20
33611341 |Uwgqlk B t< r}m}lfnw 43.92 87840 2000
33661000 |Ukjopuhljunt 155 N20 c< nup 1057 31710 30
33691145  [Uwgubghnuwh unybun 25% 5ml N10 t< wnth 287.28 114912 400
33620000  |Uwu -Stly |-p 10%/4004; c< unnuh 620 24800 40
33611000 |Utighd $npunts NJO c< wnuh 576.01 17280.3 30
33630000 |Uklynj Pnphdbin punip 40q o< winuh 239.4 23940 100
33611160 |Ubiwnynwpwihn 5dq/24d; N10 &< winuh 470 141000 300
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33620000 [Nniphnng 20 N5 < nnup 2280 68400 30
33620000 |Utiquinnli 1%14; N10 98 nnuh 835 25050 30
33620000  |Uhnnlwd 14)/100dq (74 upyuly 465.76 116440 250
33620000 |Uhnnlwd 150dq < W}‘fnw 80.06 96072 1200
T rere e T L
33611160 |Ununpihnid 10dq N30 < winuh 4845 48450 10
33621000 _|Uwpnnt wipnwhup - 1004) 20% c< Wl'mnwréﬁ 32000 96000 3
33620000 |3niwhnnpu unyninwn 100dq N10 t< wnuh 2480 49600 20
33620000 3231?52:1 5202;1:’5%2% a hudnde ee nAuh | q400.38) 140038 10
33611170 [Ling-Upihh 40uq t< hwp 6.5 19500 3000
33611170  [Lnp-Cwjw $npink 80dq o< f}hrlll:hw 37.05 29640 800
33691136 | Lwwphnuwh pinphn i-p 0.9% 2504; o< wnith 163.2 1305600 8000
33691136 | Lwnppnuwdh pinphn |- 0.9% 1004; c< wnup 159.6 239400 1500
33691136 | Lwunppnuih pinphn |- 0.9% 5004; c< wnuh 166.8 750600 4500
33691136 | Lwwnphnuwih pinphn |-p 0.9% 10004 g4 wninu 210 420000 2000
33691136 | Lwwiphnuih pinphn, - 0.9% 54 N10 c< wnuh 315 78750 250
33620000 | Lhwnpn 5dg/2d) N5 (o4 wnntth 6907.95 138159 20
33620000 | Lhwpngihgbpht 0.51q N40 t< wnnuh 321.3 9639 30
33621750  |Lh$binhwht npwdt 10dq N50 (o148 winuh 720.44 28817.6 40
33650000 | Lh$nipnutin 220q/54) 1004 o< unuh 1980 79200 40
33691100 |Lnynluwihl wiw. 0.5% 24; N10 < wnuth 189 9450 50
33691100 |Unynfwjht wdw. 2% 24j N10 < wnnuh 190.95 9547.5 50
33691100 |Unynlwht |- 0.5% 2504 o< wnnup 504 75600 150
33611380 | Lhynwhuwppent 10dg/u) 14) N10 c< inuh 839.7 25191 30
33660000 | Lnjhujnky Ph-$npunk 10ug/2.50q N30 o< wnuh | 577374 866061 150
33660000 | Unjhupk Upghuht $npunks o< qw?fnw 158.68 380832 2400
33660000 | Unjhuipby Upghuht c< wﬁmw 107.68 258432 2400
33691144 | Lunphnulh phnuny$wwn 30% 5u; N10 T< wnuh 441 132300 300
33610000 |Lwphub N120 o8 wnuh 2640 13200 5
33620000 |[Ubiphitiin N28 < wnntth 2422 .87 72686.1 30
33650000 |Lnipndhi dwul. 100dg/50 e wnu 1000 20000 20
33661200 |Uhubuhy 2g thngh N100 c< wnup 6000 60000 10
33660000 [Unpunhyjuits 1604q g [T kg 24117 300
33660000 | Lnpunhywt 80dg t< r}uqltfnw 67.84 20352 300
33620000 | Mpbuwnwiu 10dq/10 N30 o< wnup | 5731785 630496.35 110
33620000 | Mpbiunwu 5ug/10 N30 &< wnup | 4686.981| 374958.48 80
33620000 | Mpbuwnwiu 100g/5 N30 (8 wnup | 5727.211| 458176.88 80
33620000 | Mpbuwnwbiu 5dg/5 N30 < wnuh | 4686.981] 374958.48 80
33620000 [ Mpkuwnwphnud 5udq N30 o< wnuh | 3115667| 186940.02 60
33620000 [ Mpbuwnwphnwd 10dg N30 (8 wnuh | 3873.667| 232420.02 60
33661122 |Mwpwgbinwdn| 0.5d0g N10 c< winih 37.99 3799 100
13661122 | Muwpuwghinwing oz.BOLIL c< wnuh 288 2880 10
Uy T SUUTZ5UG NZU MOUwfioag Gnwhw
33650000 |Udnpuplywy] 6250gN15 cc|" qn 133 19950 150
13621540 | Mwwwybpht dndpy0.02g N10 c< wnup 540 2700 5
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33621542 | Nwwwybipht wduy. 2% 24 N10 t< wnntth 308.9 46335 150
33661000 |Mbiputil n/h N40 hwdwndtip Mbipubt Skl N40 S wnnuh 1670.6 33412 20
TUNUTT PTG NZU MUTWNOGR "TGNuGy gnotm
33661000 [N20 &< gt 1891.5| 37830 20
33691186 | Mhpwgbwnwd wdwy. 20% 5d) N10 o< wninwh 380 114000 300
33691186 | Mhpwgbwnwd n/w 0.4 N10 t< wnntth 106.4 2128 20
33661000 | MpbinUhgnint 5dq N50 < wninuh 405.27 12158.1 30
33661001 | Mnnglipht 0.05% 14 N10 G< wninuh 381 22860 60
33611390 | Mhphnnpuht 5% 1d) N10 c< winuh 170 8500 50
33620000 | Mintipunhly24idq N6O o< unnuh 4140 82800 20
33620000 | Mnybpinhly 16dg N30 c< innuh 3690 73800 20
Mptinniuw) UN 35dq N6O hwdwpdbp Sphdtynp o< wnuh 78300
33622200 |UM 35uq N30 1305 60
33622000 |Mwlwlghl wdy. 104; t< upyuly 215.56 258672 1200
33622000 [Mwuwught n/h c< qm}f"w 20.03 30045 1500
33621140 fnll]%hgu 7qu N14 S ; t< tnuth 3812 76240 20
" wiun w w P wuwn
33660000 u?qUwQUhpnNTlo izq o nu(:: :w :l i e nith 24000 24000 1
Twtmn wign w
33611120 Ln[wwqﬁn40?k: o CC | huwlinb | 050 04| 54102 50
33621140 | 4nwhryngpbiy 0.075 g N30 c< wnnuh 3690 73800 20
33631287 | Mhdwdnight dnudhly N3 c< wnuh 2943.25 8829.75 3
33670000 | Mnipnpuwl 400dg N20 (S winuh 7400/ 148000 20
33670000 | TInipnpuw 208g 1004 c< wnuh 5081 101620 20
33661122 | Mwphyw 100 §; 1000dq t< wnuh 2200 88000 40
33691133 | Qnip Ubpwplydwl hwdwp 20) N10 c< wnuh 189 1890 10
33611341 _|Nniphnng 2d) N5 hwdwpdtip Lypnikl 26) N5 c< wnuh 567.2 11344 20
33691129 |Mthughp |-p 5004 [4S wnuh 166.8 500400 3000
33691129 |Mthughp |-p 2504 S nnth 163.2 81600 500
Mtuhwnbly 20ug N14 hwiwndtip Euwwwnh) 204dq e nbnwhw 29400
33620000 [N20 p 105 280
33651156 |th$uwiuhgh 3004q Lo [T e se| 19368 300
33611000 g?dr:tror(})t;tun U G 2 ge nnuh 1980 9900 5
Uuinw thwp 100dq N24 hwiwndtip ¢ nbinwhw 3775.5
33610000 | Lh$nipnpuwghn 100dq N30 n 2517 150
Uinnw nhwnp 200dq N12 hwdwpdbp Enubbninpg 5¢ nbnwuww 1685.6
33610000 60033&11]2[2 T SO Fgt wnhé 60.2 28
33691100 Uzwquwmnu 54, N10 e it 1398| 83880 60
33691100  [Uywqdunnt n/h N50 (S wnuh 550 8250 15
33630000 |Uhtiw$|wuh punip 0.025% 15qn c< winuh 184.65 1846.5 10
33691210 |Uinpndwbitnht & 115; 0.0025% N10 c< wnuh 410 6150 15
33671113 |Uwipnunwdng 2dq  N24 c< wnuh 312 15600 50
33671113 |Uw|pnunwdny op. t< wnith 899.45 8994.5 10
33671113 |Uwipnunwdn| whpngny cL winuwh 1411 35275 25
33671000 _|Ubkipbuiwn nhuljwu 50/100dlyq 60 t< winuh 7712 77120 10
g e e e Y R
33650000 _|Uwpbunnidhght n/thnoh 1q c< wninuh 149.6 224400 1500
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33620000 |Unybnlwdbnlwiht wiiy. 10% 2ml N10 o< ninuh 566 141500 250
33640000 |Uniypwuwnht n/h 25ug N20 S wnuf 1136 34080 30
33640000 |Unuypwunht wdy. 10p N5 c< wnnuh 1352 67600 50
33611000 |Udblunw N30 o< wnuh 1398 41940 30
33621110 |dwpdwphl n/h 2.50q N100 c< wnup 880 8800 10
33620000 |4Ywihnni 0.06gN10 (14 wnuh 81.6 8160 100
33611341 |dhlwuni 10dq/14IN10 el wnup 878 17560 20
33691187 |dhlwyngbinhu 0.5% 20IN10 [ wnup 800 4000 5
33611341 |Jphwnpnud Ywighnud +dhunwidhu D3 N100 o< wnuh 4396 351680 80
33621730 |Ubpwuwwdh; 80dg N30 < wintth 816 8160 10
33611341 ihmwuhé;up hwu%hg %ulumodb — cc wnup 1200 48000 40
njunw unt| .U hwdw i n w
33631310 thnph:ui 50(4 ’ "o T &4 o 153.42| 46026 30
33661000 |Unpnwpbl 750q/30; N5 t< wnup | 1829.55 73182 40
33661000 |dnpunwpbu bdnyati 20g t< wwpynid 1604.72. 40118 25
33620000 |dbipnawhpnt 504q cL nﬁr}\fﬁm - 4357 4357 100
33620000 |dbuub) FniE$ widy. 600LU/20; N10 (S wnnup 14900 74500 5
33620000 |dwnjupnht 204 (S wnnuh 935 37400 40
33661200 |dnipnnt dndhly 100dg N10 o< wnuh 3250 97500 30
33661200 |Ynipnnti n/h 100dg N10 (78 wnuh 1350 13500 10
33631282 [Stipdhuwu dndhy N10 o< wnnuh 2997.1 149855 50
33621420 |Snuhuy 20dg N30 t< wnuh 7337.6 183440 25
33621420 |Snyhuy 10dg N30 < wnih 4209.03| 105225.75 25
33621420 [Uwnnpywuwnht 10dg N30 (18 uinuh 1127 11270 10
33621100 |Spnipwuwht hwdwpdtip Ywpnhn-UU 100dg N20 c< wnuh 540 27000 50
33691100  |Shdww)ght N20 < winuh 426 42600 100
33621100 [Spblwwy wdwy. 5u; c< unpywy 277.53 13876.5 50
33691100  [Swytigh| 1dg N20 t< wnnuh 1104 27600 25
33691100  [Swybigh wdw 0.2% 2ml t< wnnuh 1278 38340 30
33660000 |Sphiuwnw| n/h 400ug 2 i gso| 17380 200
33660000  |Shnywwghn 600dq/244) N5 o< nuh 9115.8 91158 10
33650000  [Skunpwghlyht wyuwpunip c< wwplynid 540 8100 15
33660000 |Skptippnihght 10 N10 c< winuth 5741 57410 10
33660000 |8kipkppnihght 5d; N5 o< wnith 10774 107740 10
33691238  |8tinwdn dndply 325dq N10 [ winup 626.15 12523 20
33651116  [Skdwanihu 1g < wnnuh 161.6 484800 3000
33651118 |Skdunphwpunt 1q < wntth 143.55 861300 6000
33621240 | Shwunlynpwiwdht 500ulg N10 c< wnuh 164.87 6594.8 40
33651134 |8hwnn$npuwght 2504g N10 6L wnih 198 19800 100
33651134  |8hwpndinpuwght 500dq N10 c< wnuh 344 51600 150
33651134  |Shwpndinpuwght 0.3% - 10 Uy wsph Ywph| o< winup 540 8100 15
33611160  |Stipnilyuwy 10dq/20( N10 o< wnuh 3000 60000 20
33620000 ?I[louhu/lll-jjz?[:l/lllirfgg?[f I\%l e e s S wnuh az00| 126000 30
Shulpnip]_npumghh 200 400ug hwiwpdtp 8hypn- oc W thwpb 16400
33651134 |Skp 0.2% 200U} R 410 40
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Nnwughnhy 10U} 50uq hwiwpdbp Swhhpkl 50Ug

33620000 |1O0UI N5 ve Al 9250 iy 30
33650000 |Unpuhghti wyph Jwphy 0,5% 5u; t< nnup 2160 21600 10
33650000 |thlndtuwly opnnuyhuhy 0,1 % 10U wsph Yuphy t<L wninuth 1560 15600 10
33650000 [<Lhqhnni 0,5% 5u wsph Yuphy t< wnnuh 2160 21600 10
33650000 |Uhnnuwuhl 2,5 % 10u] wsph Yuphy < winuwh 2400 24000 10
33650000 |<hqhwptpu 2,5 % 5u) wsph Yuphy < wnntth 3360 33600 10
33620000  |Luwpbijn 20dq N28 c< wnuh 29000 435000 15
33610000 |[Rdwdwwnb) 20uq upy. < upduwy 609.38 243752 400
33610000 | 2ywdwunby 40dq gc | TUTE[ g o8] 537852 -
33610000 |RJwdwwntb 20Ug (S wﬁmw 37.08| 62294.4 1680
33641100 |Opuhwuinghts 1] N10 c< wnuh 939 281700 300
33611100 |Odbwpuwgn n/uj 20dg N30 o< wnuh 375 112500 300
S &Y
_— gg(l)tt;[}bpu 500d| hwdwpdbp Mjwqun-Skp -2 6% e nnh - 420000 »eo
33650000  |Owhnbjwpu whwush Ywphy c< wnup 985 29550 30
33611160 |Ounwlubnpnt 4d; 8dg < wdwniw 800 40000 50
33611160 [2nunwl 44| 8ug < wdwnyw 800 32000 40
33651150  |Dyniynuwgny 150dq. N1 6L nnup 100 10000 100
33650000 |bnipwight 2ohYy 54) < wnnih 204.6 6138 30
33611120 |dwidnwhnhu 0.02dq N20 t< wnnh 265.2 13260 50
33611120 | Dwdnwhnht 0.04dq N20 t< winuh 657.8 32890 50
33621590 |bnipnubidhn, 40dg N 33 3300 1000
33620000 |dbpnwyn| 50dq/d; 304, < winuh 22256 17804.8 8
33620000 |bhghnwntiig 0.4 NJ4 t< wnuh 3024 84672 28
33671000  |Udppnpuni 09. 150q/54) 1000} c< winuh 716 10740 15
33631000 |dinighuninu punip 15g c< wnuh 300 6000 20
33620000  [Dbipnul bl 100dg N30 t< wnuh 2547 25470 10
33621590 |Dnipnubidhn wdwy. 1% 24 N10 < winuth 239 143400 600
33611000  [bnuduwynigh nnunnn u/p16q t< thwpbp 126.8 50720 400
33651192 |O&h hwlwpnyu (o] 4 2hy 120000 480000 4
33651212 | Swluwthwjnwgdwl wuwwnnpuht shény t< 22hYy 370 3700 10
33651215 |SCwluwquugpbiing wuwwnnpuhl shénwy tL 29hY 120000 120000 1
33651199 | SWUwlhwunwnnipjul ohtniy t< 2hYy 6470 32350 5
33651191 | SWlwpnuinyhtuwht ohGind o< 2hy | 11900 35700 3
Z‘E:L“ZE:bunwr‘phr\qunnldhbn, annopetin b 22333507.6
33141145  |Uukn uuhtiwy 23G Pencil-point t< hwwn 450 67500 150
33141145  |Uukn uyhtiwy 25G- Pencil-point t< hwn 440 66000 150
Uwhliwg- nipw
33171500 wﬂqwbﬁim hrzuiul:;ir;f:iwgtlwé e huwn | 8900 44500 ’
5
33141000 |Ybtwpnbwlub kpulught juntnph hugupwsn pee fiuin 6000 30000
33141000 |bomunh Ubpbpulfnhl Yunntnph o< hwn | 191.63 28744.5 150
33171200 |Cughwibnip whqquyuguwh nhuiwy N6 (o] hwwn 12000 24000 2
33140000  |LkpEpulwiht junbnph kpyupugnighy 3ubnp o< hwwn 243.01 3645.15 15
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33141211 |UYYm - Okp NMhp$nuw phuwn ~kphqubp N50 t< winuh 5343 106860 20
33141211 |8kpyhljuy junquitily t< hwn 39.89 39890 1000
- Zﬁ{’iﬁﬂi‘;‘;‘f‘“‘*mh EpYynnwth phul (uunky ¢ huwn 20 30000 =00
33141211  [2hpwnguyhts huyhjh t< hwn 109 163500 1500
33141211 |Unwpluwjmywb wuwlh 25,4x76,2 &< hwuwn 7.3 14600 2000
i)

st |upooy sy O | 6| hwa | 00 | a0 |
33141211 |Uubin 21G o< hwin 4.98 39840 8000
33141211 _|Pnjubibpwnldwl (hipnighnt) hwiwluwng o< huw | 48.8 585600 =000
33141131 |Upyniu Jbipglibijnt dwwywibt wdpwlubpny c< hwwn 260 13000 20
33141135 |Pwdpul) 150g c< hwwn 270 324000 ety
33141133 |Phlwn 7x14 ng uwnbiph| thwptpwynpyws G< hwwn 84.5 152100 L
33141133 |Phlin 7x14_uwnbiphy thwpbpudnpdws < huwtn 92 165600 g0
33141133 |PhUun ghyuwht 2,5x20 < hwn 314 31400 oy
33141114 |Bwiligh$ pdolwljul < huwn | 71.65 501550 7000
33141211 |@ninp E4S 112x100x300 < hwwn 1500 300000 200
33141211 |@ninp E4S 60x30 o< hwtn 365 43800 120
33141211 |@nuge E4G 50x50 < hwwn 350 28000 20
33141211 |huwnipwghnli funpnyuwly < hwwn 232 11600 50
33171200 |Lwphiighuy phiwy dbdwhwuwlh N4 < hwwn 10000 30000 3
33171200 |Lwphughw) nhuwmy dbswhuwuwlh N5 hwn 10000 30000 3
33141211 [Owdluwwlih 22x22 o< hwwn 3.2 12800 4000
33141211  [Owdfuwulh 22x48 t< hwn 8 12000 1500
33121180 |Upjwil 6Ugdwl swihbs uwpp c< hwn 3150 31500 L
33141136 [Yuwuntinp bnihh 14Fr o< huwwn 165 33000 200
33141136 |Ywuinbip bpwluwiht 206 o< hwun 48 120000 2500
33141136 [Ywunbup bpwluwht 22G o< hwiwn 48 120000 2500
33141136 |Ywunbnp bpwluwihu 24G " o< huwtn 52 130000 2300
33141136  |“wwbinp Gpwlwjpt 186G t< hwwn 48 7200 150
33141136  |Ywwbiip bpwlwihtu 166 < hwtn 48 4800 100
33141136 |“wwbunp bpwlwiht 146G c< hwn 85 2550 30
33141211 |AMBU wupyh nhuwy Ubdwhwuwlh N5 yunhu c< hwwn 12500 62500 5
33141211 |Shpuwwinp ghwunghurgh hunfwp t< hwuw 6500 32500 5
33141211 [Ywsmb uygbnubh 1.9°7.2 (ykwnught Jhpuluwy) (o hwin | 4.7333 7100 1500
33141211 [Hbugnun unbiph) winpwydwwpl wubinny o< hwwn 185 27750 150
33141159 | JdbtinungUbip pdoljwljwl n uwnbiphy c< hwn 11.85 177750 15000
33141156 _|Qbinuinglibin pdoljwluii unbiphy < hwwn 92 184000 2000
33141173 |Ubkqplnniths wuwnly e< hwn 75 37500 500
33141183 |Lwgnquuwnpw) gnuin, c< hwuwn 74 7400 100
33141142 | Lbipwplhy 10,0 bnwynduynubin 21-23G wubinny c< hwwn 21 315000 15000
33141142 [Ubipwphs 2,0 bnwiynduyntublinn 21-23G wubinny 2 hwwn | 13.65 204750 15000
33141142 [Ubpwiplihs 20,0 bnuilndynbibitn 21236 wubnny | &< hwwn 325 195000 L00
3141142 [Ubipwiphg 5,0 tinwlinduynlibun 21-23G wubinny g hwwn | 11.88 178200 15000
33141142 [Lbipwipbhy piung. 1,0 1000hwdnp 27 G wubinny t< hwwn 10.4 10400 1000
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33141157 |Lpwwph dwyp c< hwn 16 19200 1200
33141211 |Cwuwink] thuyunb t< huwn 5.25 15750 3000
33141211 | Mpybwnljw NOL o< hwn 105 21000 £l
33141211 [Qbnul t< hwwn 846 8460 10
33141211 | Qbinwl hwiwlgqws < hwa | 1313.8 6569 5
33141211 |Qbpdwswih t< huwn 255 25500 100
33141211 [NHhuwngb pluwlps G-230 &< hwtn 9000 54000 6
33141211 |Mthungb dwujwybu 3x4/100 o< hwwn | 9600 38400 g
33141211 |NHhluingh dwwywyb 13x18/100 < hww | 10000 60000 0
33141211 |Nlunghls dwujwybl 18x24/100 /Yuitiws/ &< hunn | 12000 144000 |2
33141211 _|MHelingbils dwwjwytit 24x30/100 /yustiuuy/ < hwwn [ 18000 144000 g
33141211 | (Helingbl dwiwwytu 30x40/100 /justiws/ < huww | 30500 244000 J
33141211 | Mgl dwuywifbiu 35x35/100 /Yuitiws/ < huwn | 32500 260000 ;
33141211 | Mbunghl dwujwybl 35x43/100 /yuitiws/ < hwwn | 37500 187500 J
33141211 | MHitngbb dwiywiybi 35x43/100 YS-h hwiwn o< hww | 102000 510000 J
33141211 |MGtingbt $hluwd 305 o< hwan | 9000 54000 §
33141143 |UGwph$hywnnp t< hwtn 3.48 41760 12000
33141160  [Untnghy 260,0 t< hwtn 254 101600 400
33141112 [Uwlinwbh 5ud*5.54 Yunpl hpdpny hhuynwibngbt | &< hwtn 350 350000 oD
33141121  |Jdhpwpnidwlwl ph) (Wanwpu) N4,5,6 (S hwwn 95 47500 200
33141121 |dppwpnidwliul ey (Jhhphywutinny 0,1,2 < hwtn 385 192500 il
ot e o | 120 | 24000 [ 2
33141211 [8FG o< hwin 48 2400
- gFuéququU qhanQuwu funnnuUEn 72ntnGp/ > huion 5 Sioh 50
33141211 [Uwhpnubwiphwh funnnduy t< hwtn 220 66000 300
33141211  |Uyhpmitnphuyh nnndul dnipinmy < huwwn 500 150000 300
33141211 |Uuqqujugdwl uwpph hwdwp wnunppbuw 4,5 Ug| - s _— L300 G000 ’
33141183 |Lwgnquuwpuwy qntn, 12,14 o< huwin 74 3700 30
33141183 | Lwgngwuwnpw) gnun 18,20 c< hwwn 74 3700 20
33141183 | Lwgnqwuwpw; gnun 6,7,8 c< hwwn 79 3950 50
33141211 |Ubipddynn uwuit 60x90 o< hwun 170 34000 200
33141130 _|Swpw wlwihgh hwdwp ng uinbiph; 1504 c< hwn 59.5 89250 150
33141130 _|Swpw wbwihgh hwdwp uwnbiph; 1504 (28 huwin 60 60000 oy
33141211 | 8kUwiph$nig thnpdwlinp c< hwuwn 90 90000 1000
33141211 |Uwyh htdnuftanp t< hwtn 11800 23600 2
33100000 |Snpjwjtigh Yudbpw ol 4 huwwn 4900 9800 )
33141211 |Shynph prinp t< hwtn 3500 7000 2
33141118 EE&EEE{IMN(;%?MHPMM sbme &< nnuh | 466.67 14000 .
33141211 ii?ﬁg?pdi%(? E;Eﬁ?:;? ulllqullllllll;u)nll\lllllt)iz) 6.5ul 25 wnuh - 733.33 22000 30
33141211 ii?fﬁ?uﬁfiiujﬁi%?uﬁﬁ g —h &< hun | 11.45 8015 s
Uhwbqunfyu oguwgnpduwt puijupy Yphhulyh 10
ntqhtny sunhup 38ud ny yywljwu  winthnwd 100 t< wnnuf 600 6000

33141211

huwn
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Mwun npéw 1.5 d}. Yw 1500
33141211 Eplpend:rl:‘lruhih e 19 fushuntind B W d 1o .
S ::r[‘ul:;]mhl{ thnpdwlnp 24). Ywihwphsny Eppendorf e b T 8000 500
33141211 |Uwnbphyyntg P 180/60p. &< wnup | 60000 60000 1
33141127 |Ulpddinn Jhpwludnis < hwuwn 4500 45000 10
33140000 TARuluslll\JAunghuucjgtxnnﬂbéwhwquh SR be b 2000 4800 2
oo |ty ot vaitnn o | pn [ 000 | soo00 |
33141211  |UWdpwl N18x6 t< hwwn 43000 86000
33141212 |XP-300 Swhshpninp t< huwn 800 4800
33141211 |Uhunnytun 100 dyy t< hwwn 15,000 30000 2
33141211 [duynunugbplibp K2 EDTA o< hwn | 6,000 60000 10
33141211  |Uubnubpjwlnunwjubpipphhwdwp t< wnuh | 2,300 23000 10
33141211 [Unwuwnnp, uyninuybbpuubnitphhwudwp < nnuh 4,000 40000 10
33140000  |Qyniynutnp MhEppnpuiw o< hwwn | 2.000 4000 2
33141142 [wjwunhl tinpawtinplbp FLU-F hudwp t< hwwn | 13.000 65000 5
33140000  |Pnpwlu qpltwd18-26 o< hww | 2.500 175000 70
33140000  [$nihh juunkinp kownig c< hwuwn 204 6120 30
33140000  [Bnihh Yunnbup bphdng t< huwn U 4950 30
33140000 fgg-ﬁgglgﬁim et ey e< Hun || 2000 18000 1
Wy ;I(I)l(l)gl;lilhulhm thnhnfuwlwl dwypny (gnquunng) 20 e b | 18000 p— :
33140000  [Ouypuilju) Whypnughuybuh hwdwp 10004l o< hwuwn = 12000 3000
33140000 [Ouypuiljus] whypnuhigbunh hunfwp 2000y o< huwn J 9000 3000
33141211 |Hwynwawgutp  gbingh < hwwn 82 123000 1500
33141211 [Ywynunwiubp bwnph ghnpwnny c<L hwwn 80 24000 300
33141211 |dwlnunwijubp Li- hbwwphu . 6L hwwn 80 40000 500
33210000 cobas c111 @ninp wwhsh < hwtn 1500 12000 8

Uutin Cobas ¢111 -h hwdwp PROBE SET ¢111 7 155000
33140000 |Yund hunfwipdtp hwn 153000 1
33210000 3318 ] 21 1\/320 w e e huwin 50000 50000 1
33181120 | Yhuyhqh quihy hbunphughquunnp HIPS 16 8% lhun 5800 580000 100
33181120  |Yhuyhgh thg htalnnhwjhquuunnp HIPS 18 c< hwun 5800 870000 150
33181120 | Yhuijhqh quihy hkunnhuhqunnp HIPS 21 C< lhun 5800 5800000 1000
33181100  |Upjul hnupwghs (o4 hwn 1980 2376000 1200
33141149 |$huwnyuyht wubnikp 16G, g/t %< |hwwn 299 299000 1000
33141149 |Shunnyuyht wuknubp 17G, g/t < hwwn 299 44850 150
33141136 |Uktnnpnbwlwh bpwiljuyht, bpygnn  yunbnbpg] 0% [hun 12700 50800 4
33691139 | Zpufiughtt hnwtyniph puppphe A (. 1941 2911500 1500
33141211 |Shpwnp nhwihgh wwpunnh hufwp S< fhun 75168 225504 3
33141211 [onnnqul ghwghqh wywpuinh hunfup < |hww 4750 38000 8
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Phthwlwt ympkp 19615398.7
33630000  |Pdolywywb uwhpun 70% < [htnp 915 228750 250
33631240 |Lnphtipuhnht 0.5% uwhpwwiht - < thwp 1300 520000 400
33630000 |RGwwinnhu 10% 1| c< thwp 4000 400000 100
33631260 |Unwdwunjw Juliwy 1% 104; < hwuwn 08 9800 100
33630000 | TMbphhnpng 33% 1) ¢< thtnp 595 59500 100
33630000  |Ywih whtpdwuqwlwwn 10g < hwwn 38 3800 100
33630000 [Pnpwppnt 30q < hwuwn 23.7 2370 100
33631260  |3nnh ngbipnipd 5% 304) t<k hwn 198 39600 200
24451140 |Upwlwbiph; hwp N300 G< hwwn 2500 12500 5
24451140 |<bipuwlhnu hunwljnip 1 < hwtn 3993.33 59899.95 15
24451140  |Lbjynubuyn 1 t< hwun 2700 54000 20
< 25500
24451140  [Unipbwlipnu 1) hwuwn 5100 5
250
00 750000
24451140  |wpyyun 50% b hwun =0
24321000 Pwphnuwh unybun 100g < Ritn 194 194000 1000
24321000 | Enghu &< gpwd 10000 10000 1
Lhdnuwppyuwjht bwwnphnud &<k 1500 1500 1
24321000 | -URUWRRYwW nh Ua
24321440 |Pwgwluwppnt e thinp 1500 7500 5
15000 3
54321000 Unybnuwihghjwpepnt t<C Ug 5000 00
Ubphhu ny t< wd 500 500 1
o0 RhthU Ywwnywn an
U u &< i 1500 4500 3
24321000 | UL RN L
Unwpepnt 0.1N10 &< tnnt 4000 40000 10
24321000 Nl '
Ugntp- U Mndwun Shdqu t< tn 8000 24000 3
24321000 | 2M-tnah wunyulne Ghiq thwp
£ dhwwybu Jdwpny &< n 1450 4350 3
24321240 | 1PinL phdhwuy pnip thup
- 0 45000 50
33210000 Oduhwwy 350 - 504; o4 hwuwn 6900 34500
9 - -
dnpdwiht (bnpdwinbihhn 40% |-p) 20- 24 Yg tC ™ 495 123750 250
24321000 |wwpwubpnyg
t< 42000
33210000  [a-|hwnwnninbhnubiph npnodw wbuwn hwywpwdnt wnuh 42000 1
b-lhwnwpninthnubph npnodwy nbuwn ¢ 75000
33210000 hwyjwpwdnt wintth 75000 1
C -nbwlnhy uyhwnwlnigh npnadwl nbuwn
930
33210000 hwywpwdnt &= tinuh 6200 3000 15
© h
rh© (C)nbgn hwdwlwpgh wuwnhgbuh npnodwl 5 33800
33210000 nbuwn wnntth 3380 10
h
rh© (Dintigniu hwdwlwngh wuinhqbith npnadw o 33300
33210000 wnbutn tnnuh 1850 18
U o] u
quwn fFhpopuhth pwuwlywlwl npnadwl wbuwn o 162000
33210000 hwyjwpwdnt wnntth 40500 4
Wjwuhuwdhu U udb
(wUhtiw h/}{{mnw ubbipwgh Yhubinhy 5C 27500
33210000 bnwuwlny, npnodwu inbuwn hwywpwdnt winuth 2750 10
Upw |hynwpninbhnubph (HDL Fun|tiuwnbpht) 5 84000
33210000 npn2dwl nbuwn- hwywpwdnt wnnuh 42000 2
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Upw -pbinwypninthuh pwuwhwlwu npnadwt

&< 54000
33210000 nbuwn- hwwpwdne 1 inntth 54000 1
Uywnhqwgywsé dwutiwlh ppndphtwihl o 92000
33210000 dwdwlwlh npnodwt wibuwn - hwywpwdnt ninuh 22000 1
&< 87300
33210000 Udhjwgh npnadwl nbun-hwywpwdnt wnnith 5820 15
Utopgquliwywl $nudnph npnadwt inbuwn ¢ 18800
33210000 hwywpwdnt wnntth 9400 2
Uuwwpunwinwdhuw wpwlubbipwgh Yhutinhy o 440534
33210000 bnwlwlyny npnodwl nbuwn hwywpwdnt wnup 2202.67 ' 2
UUU T O UTO OO o0 U T U B G T[T
Yninphdtinphly Gnwuwyny apnadwt nbun < 67500
33210000 hwlwpwént wnuth 4500 15
Unjwu rh nbgnuw hwdwlwpgh wuwhgbuh 5 50000
33210000 npnadwl inbuwn upy. 2500 20
< 24000
33211190 Upjwt fudph (1) npnodwt tnbuwn upy. 1200 20
t< 20000.01
33211190 Upjwt fudph (1) npnadwl wnbuwnn upy. 666.667 30
<k 24000
33211200 Upjw fudph (1) npnodwt inbuwn upy. 1200 20
&< 20000.01
33211200 Upjw fudph (1) npnodwt inbuwn uny. 666.667 30
t< 30000
33211220 Upjwu fudph (V) npnadwt wnbuwn und. 2000 15
REwnw |hynwpninbhnutiph (LDL hunjbuntbipht) o 150000
33210000 nnnadwl inbun hwywpwsdn. wnnuth 75000 2
Ppnigbiyngh hwpnighsh (Brucella Melitensis ) oC 27200
33211280 npnadwl wnbuwn-hwdwpwdnt tnith 6800 4
Spndphuwiht dwdwbwyh npnodwu phuwn - o¢ 87500
33210000 hwyuipwdnt 12x24; wnnuth 17500 5
< 225000
33211280 | Ppnigbyngh npnodwl nbuw-hwywpwsdnt (RB-50) wnuh 15000 15
Fwddw qynunwdh) npwtubbipugh npnodwl oC 16333.34
33210000 wnbuwn-hwywpwdni50ml tnnith 8166.67 2
T< 150000
33211120 Gynihngh npnodwl inbiuwn-hwywpwdnt 1 wnnuth 5000 30
(o4 21600
33210000 Eng|hgbiphnubiph npnodwt wnbuwn hwywpwdnt tnuh 4320 5
< 14000
33210000 Epjwph npnadwt nbun hwdwpwsdnt 2 ¢ nntth 14000 1
Cunhwunip U ninhn phihnniphtt inbun
(o4 40000
33210000 hwwpwdnt nnuh 5000 8
Cunhwunip uyhwnwlmgh npnodwt  wnbuwn 5C 8000
33210000 hwlwpwdni 2 wunnuth 4000 2
Cunhwunip Shpnpuhth pwlwlwlwy npnadwu oC 160000
33210000 wnbuwn hwjwpwdnc wnuh 32000 B
Cunhwunip Lnjbunbtiphuh  npngdwt  nbuwn
&< 60000
33210000 hwywpuwdnt wnntth 6000 10
fpywiht $nudwinwgh npnadwl nbuwn oc 15000
33210000 hwywpwdn 2 wnntth 15000 1
< 36000
33210000 fShdnjwiht Udnwh  npnodwl  nbuwn wnnuth 4500 8
(Ghpbnunpnuy hrjpénbh pwiwlwlhwu npnpdw o 174000
33210000 utbun hwywpwdnt wnuh 29000 6
(dpndpnujjwuwnhuh  wbun hwywpwdnt THR -
t<
33211310 120 (6x4ml) wintth 11250 160000 16
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hudbihghnt dnununwyingh npnadwl nbuwn

42000
33210000 hwywpwént es wnuh 21000 2
Lwpwwwnnbthhnpngbwgh npngdwt wbuwn o 8400
33210000 hwywpwént /hbnnuy/ tnith 4200 2
Ljnunthuwgunn hnpdnbh pwbwlwlywt npnodwl o 84000
33210000 wnbuin-hwywpwdnt nnih 42000 2
IUlUJU[I!HILU”] LU atiomidin ™ IJIIUUIIIUI'IId)
hwpnighsh Uuwindwdp 1gG hwlwdwpdhuutiph t< 240000
33210000 npn2dwb wbuwn hwlwpwsdni wnuh 40000 6
fujwdhnpwih hwpmighsh bwwndwdp IgG o 240000
33210000 hwlwdwpdhuubph npnodwb wbun hwywpwsnt winuh 40000 6
funphnuhy gnuwnnupnwhth pwuwlwywu oc 47100
33210000 npn2dwl wnbuwn hwywpwdnt 1 wnnuh 47100 1
&< 192000
33211290 “wihnuwh  npnadwl wbun hwlwpwsdnt 1 wninuh 12000 16
< 76800
33211300 Ywighnwh  npnodwl nbuwn hwywpwént 1 ¢ wninuth 4800 16
o< 26000
33211160 Ypbwnhuhth npnpdwl wbuwn hwwpwdnt 1 tnnith 2600 10
Ypbwwnhuyhuwg whnhynyejwt  npnotwl nbuwn o¢ 22600
33211160 hwywpwdnt winith 11300 2
Cwlwuwnpbwuwnihght -0 npnadwu wnkun 5 6720
33210000 hwlwpwdnt wninth 2240 3
Cwlwuwnpbiywnnihght -0 npnodwl
< 80000
33210000 wnbuwn hwywpwdni wintth 8000 10
&< 20000
33210000 <kdnginphtih npnadwt wbunh hwywpwént 2 wnintth 5000 4
<buwwwhwn A hpniuh Uywindwdp IgM oC 30000
33210000 | hwywdwpdhuubiph npnodwl wbuinh hwywpwdnt wnntth 30000 1
<bwwinpin B Yhpnwh dwlbpbuwiht wnhgqbup
< 14000
33211320 npnadwt whuwinh hwywpwént wnuth 14000 1
<twwwnpuin T Yhpnwih GGwndwop g6
hwlwdwpdhuubph npn2dwl nbuwnh < 120000
33210000 hwywpwdnt wnuh 40000 3
<bpwbiv Jhpniuh uywundwdp IgM
hwywdwpdhuubph  pwuwlwywl npnadwt < 69000
33210000 nbuwn hwdwpwdni tnnuh 69000 1
<hduwihu dnupnuinuwgh Yhtbnhly Bnwlwyny oC 20100
33210000 npn2dwl inbuwn hwdwpwdnt nnuh 3350 6
33210000 Uwqulighnwh  npnpdwt wbuwn hwjwpwdnt 2 o< wnintth 7200 57600 8
Utigh ubg wpjwl npnodwy wnbuwn-uinphwubph e 24000
33211110 hwywpwdnt wnntth 12000 2
Utigh dtig qyniyngh, wpjwl, uwhunwhnigh, pH,
Yawnuubiph, wbuwhwpwp Ynh, Uhnphnutiph, o 28800
lBjunghlutinh, atnnphihungtiuh b phihnniphth
33211110 npn2dwl wbuwnunphyubiph hwywpwdnt winuth 4800 6
t<k
33211110 |Ubignud uypwiwlnigh npnadwl nbun hwywpwidn nnuh 10000 20000 2
33211170 Uhqupepyh npnadwl wbuwn hwywpwdni2 g wninuh 4400 17600 4
Uhquiuyniph (Uhquiujnyeh wgnwnh) npnaduwt
(e 86400
33211150 wnbun hwjwpwént inntth 7200 12
<
33211150 Uhquniph nﬁnzdwv nbuwn hwywpwdnil ¢ wnnth 7800 oo0s 10
33210000 Uhynwwqdwih  npngdwt wbun hwwpwdnt es wnnth 50000 =09 1
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c< 200000
33210000 Lwwippnwh  npnadwt inbun hwjwpwdnt wintth 20000 10
< 5000
33210000 Swpwph whunnpnadwl phupuwnphuy GlucoPlus ¢ hwun 10000 D S
< 50000
33210000 Mipbnwwgdwih npnadwu wbiun hwlwpwsnt G wnnith 50000 1
Mpngbuwnbipnth pwuwlwlwl npnadwy whbuwn oC 47500
33210000 hwywpwdnt wntth 47500 1
Mpnjwywhth  pwbwlwlwu npnodwt nkuwn
< 64800
33210000 hwywpwdnt ¢ tnuh 32400 2
Mpnuinwn uybigh$hly hwlwgbth pwiwlwljw o 202500
33211330 npnadwl nbuwn hwjwpwdnt wnnuth 40500 5
Mtudwinnhnwiht $wynnpubiph npnadwl wbuwn
('S 60000
33211240 hwjwpwént wnnuth 6000 10
33211230 Uh$thuh npnodwt wnbuwn hwlwpwdnt = wintth 12000 120000 10
Stunnuinbipnh pwbwwlwt npnadwl wbuwn 5e 96000
33210000 hwywpwdnt wnnth 48000 2
Snipkplniyngh npnadwl wpwq nbun
33210000 hwywpwdnt ge tnnuh 30000 30000 1
Snpunwjwquingh hwpnighsh ywndwdp 1g6 o 60000
33210000 hwYwdwpdhuubph npnpdwu nbuwn hwywpwsnt nnuh 20000 3
Snpunwwqungh hwpnighsh uywindwdp IgM
c< 60000
33210000 hwlywdwpdhuutiph npnadwl wbun hwwpwdnt tnnith 20000 3
Spwnubidw wwihnnwh npnodwl nbun o¢ 40000
33210000 hwywpwént TPHA tnnuh 40000 1
Sphynnehpnuhtp pwbwlywlwlt  npnadwl tbuwn oC 32000
33210000 hwywpwdni 1 wnnuh 32000 1
Sphyninhpntihtp pwbwlwlwu  npnodwl nbun o 32000
33210000 hwywpwdn 2 wnnuth 32000 1
SNNUGGWRYRAN U Gquaiwup 186G
hwlwdwpdhuubph pwbwlwlwl npnadwl nbuwn < 44600
33210000 hwwpwdnt winuh 44600 1
£nphnutiph Ynugbuwnpwghwih npnpdwt wbuwn
<k 8300
133210000 hwywpwdnt tnnuh 8300 1
33211130 |Pnjbuwnbiphh HDL Uuwnwgunn nbwgbtwn 6L wnntth 3500 17500 5
33211130 |Lnjbuwnbiphtp LDL buwwgunn nbwgbtin 28 wninith 8000 40000 5
bnibyny fupwunn hnpdnuh pwuwlwlwl oC 88000
33210000  |npnadwl wnbuwn hwywpwdni winuh 44000 2
fdhpnginpnuhtih bhwindwdp hwywdwpdhtubipp o< 56000
33210000 [npnonud hwwn 56000 1
33200000 |Uqnujhpwd nbwljunhy c< hwuwn 2390 119500 50
33140000 |pwihnhw winhghtth npnotwi hwyjwpwsnt < hwwn 23000 92000 4
Ppmghnujuyntun 30 phuw/ Brucelloslide-Test o< R 300000
33140000  |/30 test/ 15000 20
(hipbw-UnghupiThn 2 wpquhwh/Urea-arginine.
33140000 |LYO-2 broth t< hwwn 62000 248000 4
33691139 | @pyuyhl fmnwiynip 107 (1S hwuwn 5130 2052000 400
33691139 |Ypupnbwppyh hnwiymp 50% 1*10; o7 hwwn 12790 767400 60
Ddhpppungklh npnzdwh wbun- hwywpwdéniStart 4 e 68000
33210000  [FIBRINOGEN-PREST 480 tests (Stago) hwuw 34,000 2
LbtinywuwnhG CI Mnwu, wnbuwn-
hwywpwoéniStart 4 (of 4 65000
33210000 |Neoplastin Cl plus, 300 tests (Stago) hwwn 13,000 5
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NSSU wyunndwwn npndwl hwywpwédniStart 4

< 22000
33210000 [PTT a 1200 tests (Stago) hwtn 22000
Epniphl dwiwlwy wnbuwn- hwjwpwdniStart 4 0% 52000
33210000 |STA Thrombin 240 Tests (Stago) hwn 26000
Uni Calibrator 6x1ml
< 5945
33210000 [(Stago)Start 4 whwhquuinph-hwdwp hwwn 59450 e
Untnnpng htinniy, 2 dwywpnuly, 12x2x1 4y Coag e 118900
33210000 [Control .Start 4 wiw hquwnph hwiwp hwuwn 118900
20
33210000 |[STA CaCL2, 24x15 0y,Start 4 wGuhqumnph hwdwp &< hwuwn 42030 il
STA OWREN KOLLER, 24x15 w:Start 4 ¢ 47150
33210000  [wlwihquuinph hwdwp hwun 47150
FINNTIPS 2,50ML (X100} Start 4 wiwhqunnph o< 241900
33210000 [hwdwnp ‘ hww 241900
33210000 [Flacon 1850 balls Start 4 wliwhquunnph hudwp < |hwwn 75850 151700
33210000  |Barrettes cuvettes 150X4 Start 4 wGwihqunnph hwdwp Ge hwwn 72780 Al
b 111 P 3]
cobas ¢ hihreniph oc 70000
33211140 |munnubh npnzdwl phiup hwjwpudnt huwtn 35000
cobas c111 Phihrnipht
< 50000
33211140 |pughwbnip npn0wl phup hwjwpwsnt C hwwn 25000
cobas ¢111 Iun kunbphtth
< 48000
33211130  [npnpuwl wkun hwjwpwdnt hwtn 24000
bas ¢111 S L
pooas e Rhaihgkpiun o< 20000
33210000 |npnpuwl kuwn hwdwpwsnt hwwn 20000
cobas ¢111 HDL npnodwh
t< 80000
33210000 [wkuw hwyjwpmdnt hwtn 40000
cobas ¢111 LDL npnpdwh
t< 126000
33210000 |wbuwn hwjwpwsnt hwn 63000
Cobas c111 [ Yphunnhith
’ t< 84000
33210000  |NPn20wl pGup hwjupwdnt hwtn 28000
cobas ¢111 Qyninqu
< 100000
33211120  [pPn20wh phiup hwjwpwsn hwtn 20000
cobas c111 Uhquiynip
< 32000
33211150  [nnn2dwl phup hwjwpwsn _. hwtn 16000
cobas ¢111 Uwbpa
LwOh t< 28000
33210000 |wWOhGnnnwludtipwquh npnzdwipbun- hwwn 14000
cobas ¢111 quudw-
&< 12000
33210000 _[qununwihy npuudbipuqu npnadwl pbup hwn 12000
Cobas c111 HbA1c 5e 124000
33210000 ["PN20wl phiup hunjwpwdny hwn 124000
Cobas c111 wwnhl
ippunap o< 28000
33210000  |yhtwqu npndwl phup hwywpwdnt hwin 28000
cobas ¢111 L2 npnatwh phup
<
33210000 |hujwpwidnt G hwn 11000 HiEop
cobas ¢111 Zhduwght ¢ 17000
33210000 _[$nudpmnmqu npnziiwl phiup hugwpwsnt hwtn 17000
cobas c111 Uuyjwpinun
t< 28000
33210000 |wihinnpwludtpwquh npntwbpbun- hwn 14000
cobas ¢c111 Udhjuqu ¢ 79000
33210000 |punhwtinip npndwl phiup hunjwpwsnt hwn 36000
cobas ¢111 Ujpnidht o 26000
33210000 [phphwinitp npn20wil pbup hwywpusny hwwn 26000 0
cobas ¢111 ‘ Cunhwbnip
t< 50000
33210000 [uyhwulymgh npnadwh phiup hudupwsnt hwtn 25000
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cobas ¢111 CRP
33210000 [pwhwlwlub npnp0wl phiup hujupwsnt “C b 100000 F0000
cobas c111 CFAS
33210000  [Ywihppwinnp® phophuhwlwb whwihqubph hudwn E= hwn 37000 37000
cobas c111 CFAS HbA1c
33210000 _[Yhpnwnnn’ phophubulul wihqbbph hwdwn|  ©< |, | eoogo | 62000
cobas c111 CFAS protein
33210000 |Uwihppwinnp’ phophuhwlwl whaghqibph huswp| &< hwtn 130000 150500
cobas ¢c111 CFAS Lipid
33210000 |Uwthppwunp’ phophuhumt whwihqtbph bwdwn| ¢ L 19000 19000
cobas ¢111 niwnpng Yt
33210000 [sEU unipnh 1 es hwn 161000 161000
cobas ¢111 lntnnpny §1ht
33210000 [sEU Unipnh 2 ve hwn 161000 eliege
. cobas ¢c111 Cleaner < hwn 18000 54000
Lywgnn htnmy) hhdbwght punyph Ynpuu U111 ¢ 18000
33210000 |wlwihquuwnph hwdwn hwwn 18000
Activator for Cobas ¢111 9x12 ml Unpwu hlunkgpu t< 39000
33210000 |b Ynpwu U111 whwjhquuinpubph hudwp hwun 39000
ISE Deproteinizer:unpuiu ¢111 whwjhquunnph
33210000  |hufup e llgiun 9000 27000
L{ZPCTSO/USH wlwihqurnnph hwdwp ¢ 17000
33210000 o Diluent hwn 17000
htinhqugnn nbwqbin:Ynpwu U111 e 41000
33210000  |whwhquwnph hwdwp hwwn 41000
cobas c111 FEwlghnt
33210000  |Yymiykwibiph hwjwpwsnt &< hwtn 63000 252000
33210000 |cobas c111 cobas sample cup Gs hwwn 56000 o000
Cobas e 411 Elecsys 2010 EEjupu
Tehhnpotwyhwinnunbpnb-un$un pwiwywlwa t< 88000
33210000 [npnuwh nbun-hwywpwéne ) hwtn 88000
Cobas e 411 Elecsys 2010 E1Ehuhu o 29000
33210000 _|}hhnpntyhwimnunbpnb-unybun juihppunnnp hwn 29000
Cobas e 411 Elecsys 2010 EikYuhu ‘ ” —_—
33210000 [SEuwnnuunbkpnt pwlwlwlwh npndwh nbkuwn- hwuwn 82000
Cobas e 411 Elecsys 2010 EEjupu 5 29000
33210000 [Stuwinunbpni juihppwnnp hwwn 29000
Cobas e 411 Elecsys 2010 Ejtyuhu
bnikYni| tupwlnn hnpinGh pwGwywlwh npntwd t< 58000
33210000 |inGuwn-hwywpwént hwuwn 58000
Cobas e 411 Elecsys 2010 EiEhuhu
33210000 |dnibynt| fupwlnn hnpoinG Yuihppuwnnp ee hwwn 34000 e
Cobas e 411 Elecsys 2010 Eitjupu
wnnjwlunht hnpdnth pwlwlywlwb npndwa (o 74000
33210000 |whuwn-hwywpwdnt " hwun 74000
Cobas e 411 Elecsys 2010 Ekhuhu
t< 34000
33210000 [ypnjwlnht jujhppunnp hwwn 34000
Cobas e 411 Elecsys 2010 EiEhuhu
33210000 _|lunnhnGhl gnunnunnwhth puGuwlulwe ° lhwn | 77000 | 77000
Cobas e 411 Elecsys 2010 EiEjuhu
33210000 _|unphnGhy gnlwnnuipnwhGh Yuthppunnp &S hwwn 29000 2
Cobas e 411 Elecsys 2010 Ekjuhu
Snpunwjlwqinuh GYwndwdp G hwywdwnshGGbph t< 97000
33210000 |pwlwlwlywG npnyiwG phuwn-hwywpwdnt hwwn 97000
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Cobas e 411 Elecsys 2010 Ekuhu ¢ 75000
33210000 _|wpbuhlntnpn Snpunwjwqinu IgG hwn 75000

Cobas e 411 Elecsys 2010 Eikjupu 5 142000
33210000 [Shwndbquinyhpniup Ghwndwdp G hwn 142000

Cobas e 411 Elecsys 2010 EEyuhu o 71000
33210000  |wpkuhyniwnpng Shindtqwinyhpniu IgG hwwn 71000

Cobas e 411 Elecsys 2010 Eikhupu o 102000
33210000  |TPnuinwun uwligh$hy hwlwgbGh pwlwlwyws hwin 102000

Cobas e 411 Elecsys 2010 Eiiuphu 5¢ 34000
33210000  |Mipnunwn uwbighdhl hwywabGh juihppunnp hwn 34000

Cobas e 411 Elecsys 2010 Eiijupu oc 58000
33210000 |wqwin phpopuhlh pwlwlwlw npnzdwh phuwn- hwn 58000

Cobas e 411 Elecsys 2010 Ejkjuhu ¢ 34000
33210000 |wqwuwn phnpnpuhlh Yuihppwnnp hwn 34000

Cobas e 411 Elecsys 2010 Eiluhu ¢ 58000
33210000  |LnuntihGuglinn hnpdnGh pwlwlwlwh npnadwd hwwn 58000

Cobas e 411 Elecsys 2010 EEluhu e 34000
33210000 _|LntintihGwglinn hnpdinGh Yujhppunnnp hwn 34000

Cobas e 411 Elecsys 2010 Elkjupu ¢ 116000
33210000 |/@hptinuinnuy hnpuinbh pwlwlwlwh npnydw hwwn 58000

Cobas e 411 Elecsys 2010 EEYuhu ¢ 34000
33210000 _|[@hptnupnw hnpdnGh Yuihppunnnp hwtn 34000

Cobas e 411 Elecsys 2010 Elkhuhu ¢ 136000
33210000 [dJwnwhlbph pwngytinh CA 125 whwnhqkh hwwn 136000

Cobas e 411 Eiecsys 2010 Ejtljuhu ¢ 29000
33210000 |&Jwpwhbbiph pwngytinh CA 125 whwnhqkl hwn 29000

Cobas e 411 Elecsys 2010 Elkuhu

Awlwphpnhn winnpuhnwah hwywdwnshattnh t< 103000
33210000 pwlwlhwywlb npndwh phun-hwywpwént hwn 103000

Cobas e 411 Elecsys 2010 EiEhuhu

Awlwphpnhn whpnpdhnwah hwywiwpdhGGtnh o< 29000
33210000 |Ywihppwinp hwtn 29000

Cobas e 411 Elecsys 2010 “BikYuhu - 103000
33210000 |ShpknginpniihGh tuundwdp hwlwiwpdhGGtph huwn 103000

Cobas e 411 Elecsys 2010 Ekjuhu .o 29000
33210000 [Shntnginpni(hGh byundudp hwhwdwnshGGtiph hwtn 29000

Cobas e 411 Elecsys 2010 Eijuhu 5 63000
33210000 |@hnopuhlh pwlwlwlwh npnzdwh phuwn- hwin 63000

Cobas e 411 Elecsys 2010 Eijupu e 34000
33210000 |@hpopuhGh Yuihppwwinp huwtn 34000

Cobas e 411 Elecsys 2010 Eijupu oc 27000
33210000  |wphuhyntnpn) mbhykpuuy hwtn 27000

Cobas e 411 Elecsys 2010 EiElupu o 50000
33210000 |wphuhlntnpn] nipnigpuyhl dwpljbp hwn 50000

Cobas e 411 Elecsys 2010 Ejkijuhu oC 1500
33210000 |wrnwujunp uhuljjhix hwn 1500

Cobas e 411 Elecsys 2010 " ERtluhu
33210000  [uhuyns ek o 6000 12000

Cobas e 411 Elecsys 2010 EEYuhu Lni6hg
33210000  |uniyuh e B hwun 42000 200

Cobas e 411 Elecsys 2010 Elijupu
33210000  |Lniéhg mhybpuuy s ga hwun 18000 1E00E

Cobas e 411 Elecsys 2010 E1kuhu ISE
33210000 |uhulyhG / rs e hwun 25000 25000

Cobas e 411 Elecsys 2010 EjEjuhu
33210000  |dhypnyjniybinGlip e e hwwn 56000 L200y

Cobas e 411 Elecsys 2010 EjtYuphu
33210000  [5uwjnwnhpGp v & hwun 58000 G000
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Cobas e 411 Elecsys 2010 Eiklupu
33210000 |Y|hGub o hwuwn 31000 23000 3
Cobas e 411 Elecsys 2010 Ejkljuhu
33210000 |TMpnub| e hwun 27000 81000 3
Cobas e 411 Elecsys 2010 Eikhuhu = TET0G
33210000 |WPEURintpny Thyro Ab-h hwwn 116000 1
Cobas e 411 Elecsys 2010 Eikhuhu
< 3000
33210000 [ypkuphyntunpn; Juphw G hwwn 93000 ¢ 1
Cobas e 411 Elecsys 2010 Eklyuhu FT3
wqun wphnnphpathth putwjwjwb npnpdwh c< 58650 58650 1
33210000 [nbuwn hurjupwidnt huwtn
Cobas e 411 Elecsys 2010 Eikhupu FT3
wquun nphniphpnuhth pwbwjuljwi npnydwb ol 34500 34500 1
33210000 [Ywihppunnnp hwn
XP-300 Ut 10 24,000 6
33141211 gl AT < |humn 144000
T—— XP-300  Uwpndunnjuyqkp WH o< huitn 150,000 150000 1
Ppwdhu oC 584 1168000 2000
2. Upfuwitnwiuputin 29850000.0
45000000 |Ctupbiph pupwghly unpngnid ¢ 22850000.0
79810000 |Swwqgpnipnit (pdo2hulwlywl suwpnptn) (4 7000000
3. Ownwjnipnll 36338200
65211100 |Puwlwl qugh dwunwlwpwpnu PLUL 5900000
65311100  |Eibyunpwkubpghwih dwinwlwpwpnid PLUL 14000000
64211000 | Dhpuywsd hbnwfunuwywwy PCUL 448200
32412110 |punbpubunwiht Yuwh wipwdwnpnd PLUL 288000
65111000 |hudbjnt oph dwinwlwpwpnid PLUL 3100000
64110000 |Pnutiwiht Swnwjnipnll PCUL 8000
66111200  |Pwllwjht Swnwjnipiniubitin PLUL 5000
98300000 |<hghtithly hwlwhwdwiwpwluwiht dwnungniutl ALUL 360000
98300000 |"Htenwwnhqughw PLUL 264000
90512000 |Unpwhwlnipjwl dwnwinipintu PLUL 480000
22213000 |Stnbywwndwlwl dwnwjnipniiubn PLUL 1500000
WUt UGSt thG[aunNgRUIuGnp @
Spwapwiht wwwhnynwubph dowynud b ;
72514300 |uwwuwpynd PLUL 676000
Lwuwlwpgswjhtu uwppbiph ywhwwudwu &
50311120 |ybpwunpngdwl Swnwjnypintiubn PLUL 324000
Spwuuwnpuwihb dhonglbiph nGfuthGuiwl
50112000 |uwwuwpyntd (]S 3550000
UwnndbpBuwibph wwpunwnhp
66514130 |wwwhndwgpnipiniu PCUL 335000
80511000 |Ybpwuwwwnpwundwu b nwnigdwl dwnwnipiniu [PCUL 1000000
98341140 |Chupbph wwhwwUdwl wnw)nienititibin PCUL 4100000

Cunwdbup

202842809.8




